
Problem 1 Practice 

 

 

 

Answers below: 



SOLUTIONS TO PROBLEMS 
Problem 1-1 LAKEWOOD PERSONAL FINANCE COMPANY 
(30 min.)                                                                Summary of Transactions 

Month of May 2012 
  Assets  =  Liabilities    +   Stockholders’ Equity 

 
Date 

 
Explanation 

 
Cash 

Accounts  
Receivable 

 
 Equipment 

     Notes 
  Payable 

Capital  
Stock 

Retained  
Earnings 

May   1 Cash for capital stock .....  $300,000      =   $300,000   

2 Bank loan ........................  +40,000      = +40,000     

 
7 

 
Equipment for cash .........  

$340,000 
–182,400 

     
+182,400 

= 
 

$40,000 + $300,000   

 
11 

 
Cash revenue ..................  

$157,600 
+15,200 

    $182,400 = 
= 

$40,000 + $300,000   
+15,200 

 
14 

 
Receivable revenue .........  

$172,800   
+10,000 

  $182,400 = 
= 

$40,000 + $300,000  $15,200 
+10,000 

 
15 

 
Expenses paid .................  

$172,800 
–13,200 

 $10,000   $182,400 = 
= 

$40,000 + $300,000  $25,200 
–13,200 

 
19 

 
Note payment ..................  

$159,600 
–14,000 

 $10,000   $182,400 = 
= 

$40,000 
–14,000 

+ $300,000  $12,000 
 

 
31 

 
Interest paid ....................  

$145,600 
–140 

 $10,000   $182,400 = 
= 

$26,000 + $300,000  $12,000 
–140 

 
31 

 
Collected on account .......  

$145,460 
+3,200 

 $10,000 
–3,200 

  $182,400 = 
 

$26,000 + $300,000  $11,860 

  $148,660   $  6,800   $182,400 = $26,000 + $300,000  $11,860 



 
31.  Order placed:  Although the order from a customer is valuable, nothing can be recorded at this time for two reasons: (1) the order 
could be withdrawn before being filled, and (2) there is no objective measure of its value. 
 
 
 
Problem 2 Practice 
 

 

 

Answers below: 



Problem 1-2 
(30 min.) 
a. 

RELIABLE LAWN CARE SERVICE, INC. 
Summary of Transactions 

Month of April 2012 
  Assets  =  Liabilities    +   Stockholders’ Equity 

 
Date 

 
Explanation 

 
Cash 

Accounts  
Receivable 

 
 Equipment 

  Accounts 
  Payable 

Capital  
Stock 

Retained  
Earnings 

April  1 Cash for capital stock .....  $400,000      =   $400,000   

4 Equipment for cash .........  –101,760     +$101,760       

 
9 

 
Equipment on account ....  

$298,240     $101,760 
+9,120 

 
= 

 
+$9,120 

 $400,000   
 

 
15 

 
Cash revenue ..................  

$298,240 
+3,840 

    $110,880 = $9,120  $400,000   
+$3,840 

 
16 

 
Revenue receivable .........  

$302,080 
 
  

 +$5,280 
  $110,880 

 
= 
= 

$9,120  $400,000  $3,840 
+5,280 

 
30 

 
Collected on account ......  

$302,080 
+3,072 

 $5,280 
–3,072 

  $110,880 
 

= 
= 

$9,120 
 

+ $400,000  $9,120 
 

 
30 

 
Expenses paid .................  

$305,152 
–6,240 

 $2,208   $110,880 = 
= 

$9,120 + $400,000  $9,120 
–6,240 

  $298,912  $2,208   $110,880 = $9,120 + $400,000  $2,880 

 

The order is not a recordable transaction. Nothing of substance has been received or given up. The order could be 
rejected by the supplier. 
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